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FEH2 F8—TT XA FER

W

M HEBRE . BT ZRAREA | B—TTRTERX

(1) ARERFE (v-x)(x-xy), REFEMRx,, x,.

(2) LA MBREIK AN, x=x5 x,>x,; x,<x,, HARHITITE.

L)1) T x FIARZER x* —(I+a)x+a<0(aeR)

[#ET] REXTEHBHA x-D(x-a)<0, Ha>1, FFEXNGBEN x|1<x<a}; Ha=1, RENNHEE
Ad; Ha<l, RFEIXGBEN x|a<x<l}.

[ 2) MR T x AR x> +2x+1-a” <0(aeR)

[EMIAREXTESA (x+1-a)(x+1+a)<0, Ha>0, "FEXGMERN (x|-1-a<x<-l+a}; Fa=0,
THFEXGBEAN x|x=-1}; Ha<0, REXGBREN (x|-1+as<x<-1-a}.

[ 3] SRAZER12x% — ax>a’(a € R) MIfR4E.

(A7) REXTEMA Gx+a)3x—a)>0, %a>0, I%ié@ﬁé%%{ﬂm—%é&kpg}; Ya=0, T
EXOMER (x|x200: Ba<0, K%K%%%%{ﬂw%ip—j}.

[ 4] *x%ﬁx2-<a+%)x+1<o fO AR 4.
[’fﬂf’%#ﬁ]?ﬁ%‘@iﬁﬁfﬁﬁ/‘%(x—a)(x—é)<0,il?a<—1,é3L0<a<1H’T,?F%@iiéﬁﬁi%%i'g{x|a<x<é};%ﬁa=4_rl

B, m"EXOBENG; Ha>1, H-1<a<0H, I%Ké@ﬁ?%yﬂ{x|x<lﬁx>a}.
a

M VERHE: FoH DRMREBEESN—TIXRFEX

(1) S a=0FHIER.

(2) +FHEREBE a(x—x)(x-x,), REFBEMRx,, x,, EIETFHEE, WETLAWER.

(3) ELBAmMREIKN, x=x;5 x>x5 x<x,, FOoRFITIHL.

(4) BEh—fERERE a>0 AR a<0, BAFOFETE.

(5] M T x AR ax® —2>2x—ax(aeR) .

L] BAREXEHH ax’ +(@-2)x-220. (1) a=08, x<-1; Haz00, BREXEHH

(ax—2)(x+1)=a(x—£)(x+1)20; (2) ‘:—Lfg<—1 B, 2<a<0, H&Fo@T, gst—l; (3) :_,L;£=_1
a a a a

W, a=—2, MMEFOAT, x=-1: (4 525 18, a>0%a<-2, a>0H, WEFomL, x>2

a a

Rx<-1; Ba<20, WhEkFoaT, —1gxsg

a

2k, a=08, x<-1; a>0H, ngé&.xS—l;
a
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—2<a<08f, zS)CS—I g a=-20, x=-1; a<-28, -1<x<=.
a

[ 6) fAXT x A%R: ax® +ax—1<0.
[#47] (1) a=08, —1<0 m=%;

az0 81, (2) A=a’+4a<0=0>a>-4 , xeR, A=a*+4a>0=a>0 R a<-4, B

—a++a®+4a —a—m

X, = X, =
1 2
2a ’ 2a

a-va*+4a —a+\/a2+4a_

3) Hx>x, 8, Wa>0, A>0, .. — <x<
2a 2a

(4) Fx,=x,8, Ma=-4, A=0, {x|x¢%}:

2
—a—-~a +4a . P
(5) %x <x, 8, Ma<—4, A>0, - x<—— ¢ Yo e @ e

2a 2a
—a-va’+4a —a++a’+4a

gt Thadag> 08, MEH(

, % —4<a<0if,BEAIR:Za=-4
2a 2a

Va2 2
B, BEAG S a<—-4, BEA(—wn 2 V¢ +4G)U(—a+\/a +4a

,+00).
2a 2a

M YBERHE . B RENENREMEFRE

(1 :*s“%w, M /()5 eg(x) FE, - f(0)gk)<0.

2) %%go, nf(x)Hg(x) RS, - f(Dg(x)<0, Hg(x)#0.

(3) %%m, mf(x)Hg(x)BS, - f(x)gx)>0.

(4) %%Zo, M f(x)Sg(x)EE, - /(0gx)20, Hgx)=0.
BEZEHROE f(0) = (x—x))(x —x,).(x —x,) > 0B f(x) = (x—x)(x —x;)...(x —x,) <0

+ + +
(. xJ xi( £E5 Xn
OR: BUUAS, o@EEFE, 6, 283, s#he, MFS

(6] 7] f#XTF x A% R: ——5<0 (aeR).

X—a

[ia47] BAEXEFM T (x—a)(x—a®)<0

(1) Fa=d?>, a=0% a=10 , REXHBEHTE

(2) £a>a®, FFO<a<li, REXWMBEHN’ <x<a

(3) Za<d®, Ba>1%a<08, REXMWMBEHNa<x<a®

s a=03% a=10 , REXOBEATE; O<a<li, REXOMEH (x|a’ <x<a};
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M 2 SBHY HREE s fz=R
a>1Ra<08F, REXOMEHN (x|la<x<a®}.
L) 8) T x AR, ——<1-a.

xX—

Uit VR REXEH A : 4 (a=1)<0 - 2 FEF=D@=D , ax-a+l
x—1 x—1 x—1

<0 FHT (x-D(ax-a+1)<0
Fa=0, RAFRILHAx<1;

L g =08, (x—l)(ax—a+1)=a(x—1)[x—(1—l)]<0; bt x, =1 x, =1—l.
a a

(1) Fx,>x,, Ma>0, -H*DI%JJ:.'.a_1<x<1;
a

(2) Fx <x,, Ma<o0, ‘ff‘UI%J’F.'.x>a_1§Lx<l;
a

a—1

ZE, a>08, <x<1l; a=08, x<1; a<O0ff, x> Hx<l.

a a

(6] 9) LT x A% — 2% 03, Haz-2)
(x+2)(x-3)

[#47) (1) Ha<-28, {x|x<a, R-2<x<3};
(2) ¥ 2<a<38, {x|x<-2H&a<x<3};
(3) Ha>30, {x|x<-2&K3<x<a}
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.8 ][

. BEI2a+1<0, KT x IR x? —dax —5a% > 0 IRREE R ( )

—_

A. {x|x>5a 8 x<~-a} B. {x|-a<x<5a}

C. {x|x<5a8x>-a} D. {x|5a<x<-a}
2. AR ax? —(a+2)x+22>0(a < 0) FIfEEN ( )

A. [%,1] B. [1,%] C. (—oo%]u[l,+oo] D. (—oo,l]U[g,—koo]
3. FERTF x MAZER X —(a+ Dx+a <0 FIRETIBA AL, W a WEUETEHEZ ( )

A. (3.4) B. (2-HUG4) C. (34] D. [2-1)U(@3.4]
4o KF x IATFER ax —b> 0 BIREE (L), WISET x IATERX (ax + b)(x -3) > 0 FUMRSEZ ¢ D

A. (0o -)UGr4w) B. (-13) C. (13) D. (=o0,1)U (3,400)

5. FO0<a<l, WA (x—a)x—0)> 0 MRER ()
a

A. (a,l) B. (l,a) C. (—oo,a)U(l,+oo) D. (—oo,l)U(a,+oo)
a a a a
6. RAE x? - 2ax —3a* > 0 HIRLE.
7. RAZER X +ax—1< 0 HIRE.
8. HRT xWAZER ax? —(a+1)x+1<0(aeR) E@ﬁﬁ%%(i,l), M a FIBETEEN ( )
A. a<08a>1 B. a>1 C. 0O<acx<l D. a<0
0. BHIEE f(x)=ax® +bx+clac=0), # f(x)<0RIREN (-1, m), W TFHBIEIERRE ( )
A. f(m-1)<0 B. f(m—1)>0
C. f(m-1)5mHS D. f(m-)5m&AS

0. Z%F x %R ax > b E@ﬁ?-%ﬂs(—oo,%), T x R ax? +bx—§a > 0 R4S

1. fETxHIAZERR e’ +1-a)x—1>0
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I:fi S BN RS

12. RT xMAER ax? —2x+a<0

O ommaEr ¢ O

2
13. Aagtt ﬂ

y—
A. {x|x<-2Hx>3}
C. {x|2<x<18x>3}

m.K%ﬁi”zo%%%ﬁ( )
— X

A. [-12] B. [-12)

w.K%ﬁ?ﬁ%&%%%ﬁ_____-

X

6. RE&ER

ax
x—1

x(x+1D(x-2) <0
(x+2)(x 1)

17. fEAER: (D

2
18, fRT x A% T2 1450

X+a

B.
D.

C.

<1 WIRREEN {x|x <18 x>2}, KallE.
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X|x<-2Hl<x<3}
(x| 2<x<18i1<x<3}

(—o0,—1]U[2,+0)

2
x“—3x—-4 S

(2) -2
x°—=3x-10

D. (—o0,—1)U(2,+)



